
Wadkin 

INSTRUCTION MANUAL 

Medium Duty Spindle Moulder 

Type BER2 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



MEDIUM DUTY SPINDLE MOULDER 

TYPE BER.2. 

CON:TROL 

Diameter of top piece (Stanr;lard) 
Optional diameter of top piece 
Size of table 
Speed of spindle 
Rise and fall of spindle 
Table height 
Two circular table plates give openings of 
Size of fence plates 
H. p. of motor (3 phase) 

H. p. of motor (1 phase) 
Speed of motor 
Floor space 
Approx. nett weight 
Approx. gross weight 
Approx. shipping dimensions 

FIG. I. 

SPECIFICATION 

It" 
t",l" 
30" x 36" 

3" 
33i" 
6.5/8", 3t", 2t" 
14" x 4t" 

30" x 36" 
510 lb 
67? lb 
30.8 cu. ft. 

4,500 and 7,000 rpm 

3 (Standard) 
4 (Optional extra) 
3 
3,000 rpm 

30mm 
20mm, 25mm 
760 x 915mm 

75mm 
850mm 
1 '10, 90, 70mm 
355 x 115mm 

760 x 915mm 
230 kg 
305 kg 
• 87m3 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



" .... 

INSTALLATION 

Rllmdt'~ prot~ctit'e coating from bright parts by applying a 
cloth soaked in paraffin, turpentine or other solvent. 

QJ RUN 
1 

C 

REMOTE LEVER 
CONTROL. 

9LTRIF'~ 
MO'roB 

3 PHASE WIRING DIAGRAM 
FIG. 2. 

c 

QJ~,---N_----___ ~. _ t , 
REMOTE LEVER o/L TRIP '-------v------

CONTROL MOTOR 

c 

FIG.3. 

WIRING DETAILS 

The motor and control gear have been wired in before despatch, 
all that is required is to connect the power supply to the starter 
or isolator when fitted. 

Points to note when connecting' to power supply :-

1. Check that the voltage, phase and frequency correspond to 
those on the motor plate, also the correct coils and heaters are 
fitted to the starter. 

4. Conned the line Jeads to the appropriate terminals. See fig. 
2 for 3 phase supply and fig. 3 for 1 phase supply. 

5. Check all connections are sound. 

6. Check the rotation of the motor for the correct direction. If 
this is incorrect, reverse any two ofthe line lead connections .for 
3 phase supply. 

yoltage Phase H.P. 

220 3 3 
380/420 3 3 
550 3 3 
200/220 1 3 
230/250 1 3 
220 3 4 
380/420 3 4 
550 3 4 

S. W. G. Tinned 
Copper Wire 

21 
23 
24 
15 
17 
19 
22 
23 

Oll pi vot 1:;:.11 
weekly 

.Amps 

29 
20 
17 
78 
65 
38 
24 
20 

ends of spindle 
one shot per ~ 

reaseboth 

(l-==-,-----"-- D week. 

Grease both ends 

Grease control 
cable weekly 

of motor 2 turns 
per year. 

FIGA. 

LUBRICATION 

It is advisable to keep all bright parts covered with a thin 
film of oil to prevent rusting. 

TYPE OF OIL RECOMMENDED 
TYPE OF GREASE RECOMMENDED 
TYPE OF GREASE RECOMMENDED 

FOR BRAKE CABLE 

POWER EM125 
SHELL AL V ANIA 3 
CASTROLEASE 
BRAKE CABLE 
LUBRICANT 

2. It is important that the correct size of cable is used to give FOUNDATION 
the correct voltag-e at the starter. Too light a cable will give a See fig. 5 for bolt iJOsitions and clearanc es required. When 
volt<\.ge drop at the starter and may damage the motor. installing the machine level the table by packing under the fcet. 

3. Check the main line fuses are of the correct capacity. Sce Foundation bolts are not supplied with the machine except 
list below. When anisoialor is fitted. the fuses are of the correct by special order. 
capacity ;;\s received. 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



r-----(Si.::MJ 

! /..------'-' __ "_----'--1 ~~, t 
I 

'---~-------------.--~/ / I '" J L- /'-+-'--'--

Jl-- 21{--~1 
(546 MM) 

FIG 5 

FIG Ci 

BELT TENSION 

~IG 7 

RISE AND FALL OF SPINDLE 

The spindle rise and fall is by means of the handwheel "A" 
in fig. 

The rise and fall of the spindle is obtained through a worrn­
wheel on a racked quadrant and has a maximum travel of 3" 
(76mm). 

The height of the spindle can be efficiently locked in any 
position of its travel by means of the locking lever "3". 

Whilst the rise and fall movement of the spindle provides an 
immediate adjustment to the cutter height, further adjustment 
outside the range of this can be effected by re-positioning the 
collars on the. work spindle. 

T he spindle should be rotated by hand whilst raising or 
lowering the spindle in orderto prevent excessive stretch on the 
bell. 

4. POSITION CONTROL BOX 

The control box is shown in fig. 7 

Position 1 

This is marked "run" and is the only control lever position 
where the machine can be operated. 

Position ~ 

This position is marked "free" when the control lever is in 
this position the motor is isolated and the work spindle can be 
rotated by hand. The control lever should be in this position at 
all times when the machine is not required for operation to ensure 
the machine cannot be started up accidentally. 

This position should also be used when setting cutter equipmenl 

The machine is driven bv an endless flat belt from a 3 H. p. ~~ilion 2· 
motor mounted on a hingedb~acket inside the base of the machire. This position is marked "brake". Movement of the control 
A hand wheel removes the tension on the belt for c hanging the lever from the "run" to this brake position automaticallY switches 
speed of the machine spindle. off the motor and light pressure on the lever operates a very 

To change the speed the undermentioned procedure should be efficient bral{e to the spindle. 
followed: -

1. Checkthecontrol handle is in the "free" position as described 
in the following section. 
2. Open the door at the rear of the machine for access to the 
pulleys. 
3. Remove the tension on the belt by unscrewing the handwheel 
"AIT in fig* 6. 

Position 4. 

This position is marked "lock". When the· control lever is in 
this position the motor is isolated and the main spindle is lock"d 
to facilitate the removal of the work spindle or cutter equipmellt 
as required. The spindle may require rotatingby hand to ensure 
the lock is fully engag'ed. before attemptillt>; 10 change cutter 

4. Select the required speed and re-tension the belt by screwing equipment or the work spindle 
the handwheel "A". 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



15 

13 

12 

MAIN FRAME 
ASSEMBLY. 

5 -4 

12 

~. Part No. NO.Off Description 

1 3 t" whit x ~" long round head screw 
2 B-1046/8 1 Small table ring 
3 B-1046/7 1 Large table ring 
4 4 3/16" whit x t" long socket head grub screw 
5 4 3/16" whit lock nut 
6 D-I046/2 1 Main table 
7 4 3/8" whit x 1.3/8" long stud 
8 4 3/8" washer 
9 4 3/8" whit nut 
10 84 ADS 1 MEM Starler (3 phase, 3H. p. & 4H. p. 

5Q cycles) 
10 AT3 1 Brook Starter (3phase, 3 H. p. 60 cycles) 
10 ZT3 1 Brook Starter (1 phase, 50 & 60 cycles) 
11 D-I046/1 1 Main frame 

3 
5 

-4 
5 

-+-------11 

12 

~1j-----18 

Re! No. Part No. 

12 
13 

14 A-I037/15 
15 
16 A-I024/57 
17 C-I046/17 
18 A-I039/31 
IS Pat! No, H 
20 
21 C-1046/5 
22 
23 0-1046/16 

When ordering replacement parts quote 
part no. and serial number of the machine. 

No. Off Description 

16 3/8" cadmium washer 
16 3/8." whit x }"Iong cadmium hexagon head 

bolt 
2 Door cam 
2 t" whit x 3/8" long socket head grubscrew 
2 Spring Jar door lock 
2 Door for base 
2 Spindle for door cam 
2 2" dia, pla.l$tic handwheel, ~II whit 

4 Corner fillet for base 
2 Foot for base 
2 ~" bure X 7/8" Old X 1" long oilite h~h 
1 Sheet Steel Base 

5. 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



6 

49 

48 

47 

SPINDLE HOUSING ASSEMBLY 

Ref No. ParI No. No.Off Description 

30 4 3/B" whit X 1" long hexagon head ball 
31 2 ~n whit Ilut 
32 1 ~I! whit X 3" long hexagon head bolt 
33 t" whit x 3/8" long socket head grubscrew 
34 i" whit x 1" long socket head grubscrew 
35 A-lIl46/47 Rise and fall locking stud 
36 D-lIl46/3 Spindle housing bracket 
37 A-lIl46/45 Quill Rise and fall locking shalt 
3B A-1038/33 Quill locking handle 
39 Pat[ No. 2B I 1{1! dia plastic ban 3/B" whit 
40 1 5/6" whit x 211 long· stud 
41 C-I046/9 1 Riat and fall braCKet 
42 1 SjB" whit washer 
43 2 ~'! whit X tIt ion!!; socket head grubscrew 
44 5/B" whit locknul 
45 3-103!J /42A 1 Racked quadrant for rise dIUi fall 
46 3 3/(1" whit x 1!1 long cadmlUnI hexagon head 

bolt 

Ref No. Part No. 

47 A-I026/29 

48 A-l026/65 
49 A-l026/29 

50 
51 
52 A-1026 In 
53 B-1046/44 
54 

55 B-I026j8 
56 A-l026/22 
57 Patl No. 14 
58 A-S-lOl 
59 No. 5555-37 
60 Patl. No.4 

52 

NOTE :-

When ordering replacement parts quote 
part no. and serial number of the machine. 

No. Off Description 

Collar for rise and fall shaft (without 3/B" 
whit hole) 
Fibre washer for rise and fall shaft 

56 

Collar for rise and fall shaft (with 3/B" whit 
hole) 
3/16" dia x l~" long groverlok spring dowel 
3/8" whit x 3/8" long socket head grubscrew 
Worm fol' rise and fall shaft 
Rise and fall shart 
3/16 11 whit x li·t< long groverlok spring 
dowel 
Handwheel 
Washer for handwheel 
2" dia plastic handwheel ;t! whit T. R. T. 
Spindle for 3" plastic handle 
3/B" Gnp ring circlip "Truarc ll 

3" long plastic handle 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



, 
c ?' / -, , 

I 
._-> -.. 

SPINDLE ASSEMBLY 
Ref No. Part No. No. Off Description 

70 A-1046/32 1 Spindle nut (It" spindle) 
A-I046/63 1 Spindle nut (30mm spindle) 

n A-I046/31 1 i" Spindle collar (If" bore) 
A-1792/152 1 6mm Spindle collar (30mm bore) 

72 A-I046/31 1 t" Spindle collar (ltt! bore) 
A-1792/152 1 12mm Spindle collar (30mm bore) 

73 A-I046/31 1 1" Spindle collar (It" bore) 
A-1792/152 1 25mm Spindle collar (30mm bore) 

74 A-1046/31 1 Ij" Spindle collar (It,, bore) 
A-1792/152 1 38mm Spindle collar (30mm bore) 

75 B-I046/30 1 It" dia. work spindle 
B-I046/95 1 30mm dia. work spindle 

76 1 5;'32" dia x 516" long groverlok spring dowel 
77 1 ~" dia x 5/8" long groverlok spring dowel 
7B B-I046/BO 1 Spindle drawbolt 
79 A-I046/23 1 Spindle top locknut 
BD 620B.C50 2 S. K. F. Bearing 
Bl C-I046/22 1 Main Spindle 
B2 1 5/16" wide x t" thick x 4. 3/B" long key 
B3 EPL.5B 1 EMO. Pre-Ioad waved washer 
84 B-1046/25 1 50 cycle spindle pulley 

B-1046/79 1 60 cycle spindle pulley 
85 A-1046/29 1 Spindl e pull ey locknut 
86 3 1" whit X tu long socket head countersunk 

screw 
87 H.o.I.i"B.S.F 2 Grease nipple straight type 

III 
________ 117 

~V 
110 

112 

liB 

Ref No. Part No. NO.Off Description 

88 
89 
90 
91 
sa 
93 
94 
95 
96 
97 
98 
99 
100 
101 
102 

103 
104 
105 
106 

B-1046/6 1 Du.lcap for Quill 
1 !" whit x 3" long hexagon head bolt 

A-I046/28 1 Rise and fall peg 
C-I046/4 1 Spindle Qulll 
C-I046/1O 1 Brake· housing for Quill 

3 tit whit x tn long countersunk SCrew 
B-1046/24 1 Brake drum 

2 5/16" whit x ~" long hexagon head bolt 
B-1046/21 1 Band brake 
A-I046/37 1 Pin for spindle lock 

2 tu bore x 5/8" old x tU long aUite bush 
1 tt! whit X t" long socket head grubscrew 

A-1046/38 Link for spindle lock 
tit whit x 1" long bolt 
Meteor flat belt 22~" long x 1" wide (3 phase, 

1 each 
50 cycles) k;"StO\.j.42.~ ",-S ~~~( 
Meteor flat belt 24~" long xl' Wide and w2' 
long x I" wide· (1 phase, 50 cycles) 
Meteor flat belt 21iklong" I" wide (3 phase, 
4 H. P. 50 cycles) Si o4.l,I.eb 
Meteor flat belt 24~" long x 1" wide (3 phase, 
60 cycles) 

2 fit B. s. F .. nut 
A-1046/85 1 Nipple for brake 
A-1044/69 1 Spring for brake cable 
B-I046/75 1 Cable assembly 

RING FENCE ASSEMBLY 
EXTRA 

Ref No. Part No. No. Off Description 

110 
111 
112 
113 
114 
115 
116 
117 
liB 

B-S-I-B 
B-1792/132 
0-1792/60 

C-l046j 59 
A-1039/54 
D-1792/56 

NOTE:-

2 3/8" whit ball lever screw 
1 111 x {fll Filhoe 
1 Ring fence column 
2 ~" whit x 1~" long hexagon head bolt 
2 k" whit .was~er 

3/8" whIt x ~" long sqU'lre head bolt 
Bracket for ring fence column 
Ring: fence arm 
Ring fence 

When ordering repJacement parts quote 
part no, and senal number of the machine. 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



s, 

120 121 122 

128 

MOTOR MOUNTING ASSEMBLY 

Hef No. Part No. No. Off --- ----
120 Patt No. 14 
121 
122 A-I046/83 
123 A-I046/87 
124 A-I046/46 
125 B-I046/14 
126 
127 
128 B-I046/13 
129 

130 
131 
132 
133 

134 

1 2" dia plastic handwheel }" whit T. R. T. 
1 !H washer 
1 Spring for belt tension 
1 Stud for motor tension 
1 Motor pivot shaft 
1 Bracket for belt tcnsioning 
2 3/8" whit x 1" long socket head grubscrew 
2 liB" gas x 1" long socket head grubscrew 
1 Motor pulley 
4 :3/8" whit x l" long cadmium hexagon head 

bolt 
12 3/8" cadmium washer 
2 5/16" whit X ~" long hexagon head boll 

3/16" wide x 2" long key 
3/13" whit xli" long cadmium hexagon head 
ball 
3/8'" wtnt x ~!! long- countersunk screw 

123 

135 

Ref No. 

135 

136 

137 
138 
139 
140 

124---1 

125 

126 

J 

130 

NOTE :-

When ordering replacement parts quote 
part no. and serial number of the machine. 

Part No. No. Of[ Desc!ipiion 

1 Brook motor, M66,3,000 R.P.M. 3 H.P. 
T.E.F.e. fool mounted (3 phase 50 cycles) 
Brook motor, M66, 3,600 R. P. M., 3 H. P. 
T. E. F.e. [001 mounted (3 phase 60 cycles) 
Brook motor, D 184, ,1, 000 R. P. M. 3 H. P. 
T. E. F. e. [oat mounted (1 phase 50 cycles) 
Brook motor, 90L, 3,OOOR,P.M. 4H.P. 
T.E.F.C. [oolmountedi4 H.P., 3 phase, 
50 cycles) 

C-l046/88 1 Motor platform for MG6 motor 
C-I04fi/7B 1 Motor platform [or 184 motor 
C-I026/12 1 Motor platform for 90L, motor 

4 3/B" whit cadmium nut 
D-1046/90 1 Motor pivot bracket 
A-l002/52 1 Retaining washer 

1 ~fI whit X 1" long hexagon head bolt 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



~154 

ya 
155 

FENCE ASSEMBLY 
Re! No. Part No. 

150 A-I029/59 
151 
152 
153 B-1046/56 
154 
155 B-I046/52 
156 D-I046/50 
157 B-S-I-B 
158 A-I046/55 
159 
160 Patt No. 32 
161 
162 
163 
164 

No. Off Description 

2 
4 
4 
2 
2 

Knurled knob for guard 
3/8" washer 
3/8" whit xl" long stud 
Shield for guard casting 
3/8" whit x 3/8" long socket head grubscre"! 
Guard casting for adjusting fence 
Cover for adjusting fence frame 
3/8" whit ball lever Screw 
Arm for guard casting 
t" whit x 5t" long hexagon head bolt 
'l~" dia. plasUc handwheel 3/8" whit ... 
3/8" whit lockout 
3;'8" whit x 1 tu long brass grubscrew 
3;'8" whit x 1~" long brass stud 
t" washer 

NOTE:-

When ordering replact!ment parts quote 
part no. and serial number 01 the machine. 

Rei No. Part No. 

165 A-I046/53 
166 D-I046/49 
167 A-I029/41 
168 
169 Patl. No. 14 
170 
171 
172 B-I046/54 
173 B-I046/51 
174 B-1046/51 
175 
176 
177 

CONTROL 
Rei No. Part No. 

180 
181 
182 A-1046/33 
183 
184 
185 
186 
187 B-1046/20 
188 
189 A-I046/40 
190 B-I046/19 
191 B-1046/75 
192 C.Y.W.2 
193 C-1046/1S 
194 A-I046/84 
195 
196 A-I046/34 
197 
19B B-104B/15 
199 A-I046/35 
200 
201 Patl No. 28 

158 
159 

/ 160 

174 

@--lilO 

Jl---171 

Am Z ~I ); 

No.Off Description 

2 Fence rack bar 
1 Adjusting. fence frame 
2 Fence adjusting pinion 
2 5/16" bore x !" old X t" long oilite bush 
2 2" dia. plastic. handwheel 5/16" plain bore 
6 3/8" whit spring washer 
6 3/S" whit x 1" long socket head cap screw 
2 Fence front plate 
1 Right hand fence front adjusting bracket 
1 Left hand fence front adjusting bracket 
2 3/8" whit xl" long hexflgon head bolt 
2 3/8" wlrit x 1 t" long stud 
2 3/S" whit wingnut 

BOX ASSEMBLY 
No. Off Description 

1 !" whit aerotight nut 
2 kit washer 
1 Brake swivel pin 
4 tll whit X tu ionlS hexa~on hea.d bolt 
2 3/16" whit nut 
2 3/16" washer 
2 3/16" whit x 1~1I long countersunk head screw 
1 Instruction plflte for control box 
4 ~Il whit X ~II long round head screw 
I Control handle 
I Cover for coptrol box 
1 Cable assembly 
1 Burgess micro switch 
1 Conlrol box 
1 Spring [or handle 
1 tn whit :\ ] ~ n long hexagon head bolt 
1 Brake lop 4nchor plate 
2 !" whit x a/HO long socket head grubscrew 

1 Yok~ for brake 
~rake pi v~1 pin 
-tu wlut x '11\ ~ong Docket head grubscrew 
l:tll dia plashc Imlt. 3/8" whit 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



10. 

228 

227 

~~~-
222 

223 

224 

229 

~ 
226 225 218 

227 

1--~-210 

RING GUARD ASSEMBLY (EXTRA) 

213 
214 

221 

216 

Ref No. Part No. No. Off Ref. No. Part No. No. Off Description 

210 
211 
212 
213 
214 
215 
216 
217 
21H 
219 

D-1792/109 

D-1792/113 
D-1792/114 
B-S-l-B 
D-1792/60 

241 

3 
1 
1 
1 
I 
2 
1 
2 
3 

Shield for canting ring guard 
~.n whil X 3/8" long socket head grubscrew 
tIt whit x t" long cheese head screw 
Arm for canting ring guard 
111 x 1" filhoe for canting ring guard 
3/8" whit ball lever screw 
Ring guard column 
~" whit xl!" long hexagon head bolt 
~" washer 
3/8" whil x ~" long square head bolt 

='1 244 
245 

248 

SHAW GUARD ASSEMBLY (EXTRA) 
Ref No. Par1 No. 

'240 A-JQ.l6'57 
241 B-S-l-B 

~242 D-1792/65 
243 No 8 
24 j 

M 24i) n-1792:45 

No. Off Descripti~ 

Shaw guard cantilever arm 
3/R" whit ball lever screw 
1" x ~., filhoe 
~" lon h black jappaned rnund hearl screw 
:lIJ6" washer 
Shaw guard pJ'essure spring 

220 C-I046/59 
221 D-1792/111 
222 
223 D-1792/112 
224 
225 PaH. No.14 
226 
227 A-I029/59 
228 
229 D-1792/110 

241 

1 
1 
1 
1 
2 
1 
3 
3 
1 

Foot for ring gllard 
Pivot bracket for canting ring guard 
~1I whit x 1~"" long stud 
Pivot pin for canting ring guard 
3/8" whit x 1" long coachbolt 
3 It dia. plastic hand wheel, ~II whit blind 
3/8" washer 
Knurled knob for guard 
3/B" whit X 1" long stud 
Top piece for canting ring guard 

~241 

242 

I:: 
::: ~5 
!~ 

244--~246 

247 

Ref.J!<J.. Part No. 

246 
247 
248 D-1792/44 
249 • A-1039/14 
250 • A-I046 '58 

No. Off Desrription 

5/16" spring washer 
5/16" whit x l" long hexagon head boil 
Wood shoes for shaw guard 
Front pressure bracket for shaw ({Uard 
Shaw guard top pressure bar 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



EXTRA EQUIPMEN1' o. 

GUARDS !\ FENCES. 

SHAW GUARD:- This guard provides top and side pressures and 
ensures safety in operation for use with the standard fence or as 
effectively with the ring fence for curved work. 

RING FENCE: - This fence is for use on all types of curved work. 

SAFETY GUARD:- This guard has adjustable flaps and is for 
use· with the ring fence and completely covers the work spindle 
and cutter equipment. The guard swings away for ease·ofacces8 
when setting the cutters. 

ATTACHMENTS. 

SLIDING TABLE TENONING ATTACHMENT : - This can be 
qUickly adapted for a variety of tenoning operations. The maximum 
size oftimber which canbe admitted is 10" wide. x 3" deep (254mm 
x 76mm). Using two 5" dia. (127mm) cutterblocks tenons up 10 
2" long (50mm) can be cut in one pass. This attachment can also 
be used for other operations such as halflapping, corner locking 
and for short panels and caps which are difficult to hold by hand. 
Using a 4" dia. (101mm) flush mounted cuUerhead tenons up to 
4I" long (113mm) can be cut at two passes by turning the limber 
over. 

OVERHEAD TYPE TENONING ATTACHMENT :- When used in 
cOlljunclion with. the sliding bible attachment and4" dia. (101 mm) 
flush mounted, cutterneads, tenons up tu4~"(1l3 mm) long can be 
cui in one pass and 6" (152 mm) long in two passes. This 
attachment isaself contained unit with a 2 H. P. motor and flat 
belt drive to the spindle. It can be quicKly offset in relationtothe 
machine spindle for unequal tenons. www.w

ad
kin

.co
m 

inf
o@

wad
kin

.co
m



12. 

DOYETA.IL ATTACHMENT TYPE EE;- For board upto 12" (305 

YiilTiT WWe SuPo1Ul[J complgte with comh plate. collet adaptor and 
3/8" dia. ( 9 mm) H. type collet. 

This attachment is a very simple efficient device for 
dovetailing,' two boards at right angles to each other. They are 
clamped in position and suitable stops are provided for setting. 
Both the dovetail and the pin are produced at tbe same operation, 
and the pin is ,ounded so that no band wo,k is necessary. 

Guide plate:> and bits are available for the following pitches 
~I!. 5/8'\ ~~.", lP, It'' and l~fT. (13 mIn, 16mm, 19mm, 25mrn, 
32 mm and 38 nm,). 

s" 
B 

PITCH 

J" .-
PllCH I 

ft/F r-

Note:- When ordering spare dovetail bits, please specify pitch 
size not the diameter of the bit. 

STAIR HOUSING ATTACHMENT:- This attachment consists of 
template guide roller, arm and pillar. 

ThIS attachment ca,j b(' fitled in a few minutes. The roller 
guide which controls the cut, is rigidly car,ied on a solid steel 
arm from apillal' and centred with the spindle. The template is 
secured to stair string hy means of a hand nut. The template is 
reversihle to produce a pair of strings right and left hand without 
resetting. Marking out is practically eliminated and a complete 
pair of strings can be cui in less tune than is normally taken in 
markinc; out 

SPINDLES AND ADAPTORS. 

STANDARD LOOSE SPINDLES :- 1". 1" or H" dia (20mm, 25mm 
and 30m·i11)available. These are for carrying standard bore cutler 
blocks, slotted collars, ~rooving saws, etc. The spindle threads 
are right hand, and all spindles are supplied with locknut and a 
set of making up collars. 

JP 

SLOTTED FRENCH SPINDLE :- For carrying one ~-" (6mm) thick 
cutter only, which is secured by a hardened steel set screw 

MaxImum recommended speed :- 4,500 rpm 

COLLET TYPE ROUTER ADAPTOR :- This adaptor is supplied 

complete with 3/8". ~" and 9/16" (9mm, 13mm, and 14mm) "R" 
type collets. It enables standard router cutters to be used. 

( ( 

ADAPTOR FOR STAIRHOUSINGATTACHMENT:- Special adaptor 
having a 5/8" bore(16mm) to accept both "Z" type of clothes peg 
type cutter 

ADAPTOR SPINDLE FOR TENONING ATTACHMENTS:- Tbis 
spindle is 'specially screwed for-arf,isT)-;nounteacuHerhead and is 
available for both the standard machine and the overhead tenoning 
attachment. These spindles with a flush monnted cuttel'head are 
particularly suitable for working drip grooves in sills and other 
large sections as well as for use with the tenoning attachment. 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



CUTTER EQUIPMENT 

CIRCULAR CUTTERBLOCKS:- These cutterblocks have wedge 
type clamping for safety. They are smooth running and used for 
facing or shallow rebates etc. 
For 1" dia. work spindle :-

PLAIN SLOTTED COLLARS ;- 3~" (89mm) diameter circular cutterblock, 3" (76mm) long or 2." 

For &" (20mm) dia, work spindle :- 2:\," (57mm) dia, with~" (6mncV (50mm) long. 
wide slots. Mt~;,d~um recommend~d speed :- 7,000 rpm 

M, . t ' . 1 2'" (70 ) For I. dla. work spmdle .-
Illimum cu tmg clrc e:-.. mm 4" (102m ) dia eter c'rc la cutt bl k 3" (76m )1 

F 1"(25 )d' k' dl 2 ' ''(64 )di 'th'''(6 rn)' m m I u r er oc, m ong, 
?dr 1 mm la. war spin e:- 2: mm a. Wl" m Maximum recommended speed :_ 7,000 rpm 

WI e sots 
Minimum cutting circle :- 3" (76mm) 

For It'' (30mm) dia, work spindle:- 3" (76mm) dia. with t" (6mm) 
wide slots 

Minimum cutting circle ;- 3.5/8" (92mm) 
Slotted collar cutters have many advantages, they have a good 

cutting angle, a comparatively small cutting circle and are easy 
to shape, maintain and re-grind and also inexpensive. The 
maximum cutter projection should not exceed 5/8" (16mm) to 

, ensure maximum st rength and support. 
2~" (64mm) dia x 1" bore or t"(25mm or 20mm) bore ball bearing 
type slotted collars also available. 

BALL BEARING GUIDES;- Available in two sizes for 3}" and4" 
cutterblocks (89mm and i01mm) 
3~" (89mm) dia x t' (20mm) or 1" (25mm) bore. 
4.1/8" (l04mm) dia x t" (20mm) or 1" (25mm) bore. 

FLUSH MOUNTED CUTTERHEAD :-

4" (102mm) diameter with screwed bore, for use with special 4" 
adaptor spindle. 

For standard machine right hand thread. 
For overhead tenoning attachment left hand thread. 
Maximum recommended speed : - 7, 000 rpm. 

TWO KNIFE WEDGE TYPE MOULDING CUTTERBLOCK 

These cutterblocks are designed to take from 5/32" (4mm) to 
~" (6mm) thick cutters this permits tungsten carbide tipped cutters 
to be used when necessary. 

The cutters can be used for mouldings requiring up to ~" 
(13mm) cutter projection when using t" thick cutters 4" (102mm) 
dia x 15/16" (24mm) thick x 1"(25mm) bore Part No. QR60. 

This block uses 5/32" (4mm) thick cutters only. 

4.7/8" (124mm) dia. x 15/16" (Bm m) thick xl" (25mm)bore.Part 
No. QR Il/B 

4,7/8" (124mm) dia. x 15/16" (8mm) thick x It" (30mm) bore. 
Part No, QR l/B 

SQUARE CUTTERBLOCKS:- These cutterblocks are used for 
long runs, cutters working in pairs. Two or more pairs may be 4.7/8" (124mm) dia, x It" (32mm) thick x 1~" (30mm) bore. Part 
mounted on a single block to build up a mould. No. QR 2 

For 1" dia, (25mm) work spindle:- 4.7/8" (124mm) dia, x 1 t" (38mm) thick x It" (30mm)bore, Part 
21" (64mm) s-q'uare x 3" (76mm) long complete with 4 - ~" whit No. QR 10. 
)3mm) dovetails cutter bolts, nuts and washers. 

M<uill1um recommended speed :- 4,500 rpm. 4.7/8" (124mm) dia x 2" (50mm) thick x It" (30mm) bore. Part 
For It" dia work spindle No. QR 3 ' 

3~" (89mm) square x 3" (76mm) long complete with 4 - 5/8" whit 4 7/8" (124 ) d' x 2" (50mrn) thick x 1-.'" (30rnm) bore. 4 Knife 
dovetail ~ulter bolts, nuts and washers . mm la, 

i.laximum recommended speed :_ 4',500 rn. rn Part No. QR 66 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



14. 

WOBBLE SAW :-

These saws are used where varied widths of grooving are called 
for, and where quantities are small. They are not recommended 
for quantity prodUction or where precision accuracy or the highest 
standard of finish is required. 

6" (151mm) diameter for grooves 1/8" to ~" (3mm to 19mm) 
For use on 1" and It" dia (25mm and 30mm) spindles. 

4" (102mrn) diarIJeterfor grooves 1/8" to t" (3mm to 13mm) 
For use on 'j"" (20mm) dia spindles. 
Maximum recommended speed. 4.500 r. p. m. 

CUTTERS. 

CUTTERS FOR QR BLOCKS 

VZ Cutters 5/32" thick T.C. Tipped 
.i!f1 on cut VZ VZ/T , 
1" on cut VZl VZl/T 
l·~" on cut VZ2 VZ2/T 
11.0 on cut VZ3 VZ3/T 2 
l}H on cut VZ4 , 
2" on cut VZ5 VZ5/7 
21" on cut VZ6 

~ .. Thick T. C. Tipped 
.l." on cut VZ20 " 
1" on cut VZ21 VZ21/T 
1 ~}II on cut VZ22 VZ22/T 
l!H on cut VZ23 VZ23/T 
lIft on cut VZ24 ·1 

2" on cut VZ25 
2_~H on cut VZ26 
2!" on cut VZ27 

Router Cutters: 

CUTTERS FOR STAIR HOUSING ATTACHMENT:­

Z Type and Clothes peg type 5/B" dia shank. 

These cutters are designed to give a slightly undercut trench 
and perfectly uniform wedge space. All have 5/B" dia shank. 

CUTTERS FOR SQUARE CUTTER BLOCKS 

& 
SLOTTED COLLARS 

Rebate & Square Irons 

For 2~" square cutterblock :­

Rebate Irons 

Part Nos. 

On Cut R.H. L.H. 
!.11 VQl VQ2 2 

5/8" VQ3 VQ4 
3.,1 VQ5 VQ6 . 
7/B" VQ7 VQB 
1" VQ9 VQI0 
I-t" VQll VQ12 

For 31" square cutterblock :­

Rebate Irons 

Part Nos. 

On Cut R.H. L.H. 
!n TBl TB2 2 

5/B" TB3 TB4 
~It TB5 TB6 , 
7/8" TB7 TB8 
1" TB9 TB10 
J.!'H TEll TB12 
If" TB13 TB13a 

- -

Square Irons 

On Cut Part Nos. 

VQ13 
VQ14 
VQ15 
VQ16 
VQ17 
VQ18 

Square Irons 

On Cut Part Nos. 

TB14 
TB15 
TB16 
TB17 
TB18 
TB19 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



~./!) 
~. 

Scatia Cutters 

TO!l~uin~ and Groovin~ Irons For 2}" sq. Fa" 3}" sq. 

Fo,' 2}" square cutterblock :- For 3}" square cutter block :-
cutterulack cult erblack 

Pout No. Part No. 

Size Ton!;uing Grooving Tonguing Grooving 
Cutter Cutter Cutter Cutter 

1/8" VSI VRI TV TX 
Jilt)" VS2 VR2 TVI TXI 
, VS3 VR3 TV2 TX2 

5/1 G" VS-I vrH TVJ TXJ 
3/S" VS5 Vfl.5 TV-I TX-I 

Fot' :!~" db slotted coll:\rs : - For r di:l slotted coILtrs:-
P;trt No. P:lrt No. 

Si"" TOIl~inf:" G raovin,:; Tono;uin(; Groovin:; 
Cutter C utt Cl' Cuttc. Cultc. 

3/1 G" D,'LI DVJ I VLI VJI 
OVL2 DVJ2 VL2 VJ2 

5'1 G" OVU DV.JJ vu VJJ 
3iS" OVU OVJ·; VL': \,J·I 

~ 
] 

~~ ( 
J 

Ovolo Cutters 

Fat' 2~" Square Cutterblock 

flim A. Part No. 
~., . BTFl 

313" BTF2 
~" BTFJ 
5/S" BTn 
I" BTFS ., 

7/S" BTF6 
I" BTF1 

For 2~" dia. Slotled Cuttcrblod: 

Fat' Z}" db. Slotted Collars 

Dim A. 
.I.> 

3/3" 
~" 

5/S" 
.-!. .. 
< 

7/3" 
I" 

P3.rt No. 
nTHI 
3TH2 
BTH3 
BTH4 
BTH) 
13TH6 
Bnn 

For 3~" Squ3.re Cuttcrblock 

Part No. 

TFl 
TF2 
TFJ 
TF4 
TF5 
TF6 
TF1 

For J" di3.. Slolled Colbrs 

PJ.rt No. 
THl 
TH2 
TH] 
TH4 
TH5 
TH6 
TH7 

Dim A. Part "':0. 
! .. OTJ I < 
3/S" OT12 
! .. OT13 
5/3" OTJ-I 
l .. ElT J5 , 
7/S" ElTJG 
I" 13T 17 

Be:ldinf! Cutter; 

For 2 ~ .. ;'1. 
cuttcrLJlock 

Dlm.A P:lrt :-:0. 
I, •• 

OT"I 
J/S" GT~~2 

'" 13T:-:3 
5:8" DT:-:': 

DT~;S 

7/S" OT~fj 

I" DT:-;7 
l. 1/3" DT:-'-o 

1 ~ .. 13T:-'-9 
I.J'S DTNIO 

1 ~" OT"II 

Sash Culte.s 

Dim :\ 
1.3/8" 
l. 5/8" 
1.I/S" 

For zi" sq, 
cutterblock 

[';].rt No. 
DTfU 
DTR2 
DTRJ 

P:>rt No. 
TJI 
T12 
TJJ 
T.l·1 
T.15 
TJG 
T17 

For 3;" sq. 
cutl C rulock 

P:l.:-t ~o. 

T:"il 
T:-;2 
T:-'-J 
T;'.:·i: 

T:-'-S 
T<"5 
T~;7 

T:-'-8 
T:-'-9 
T:-'-IO 
TN II 

Fa. 3~" sq. 
cuttcrblac~ 

P:J.rt No. 
BTrl1 
TRZ 

TflJ 

For 2}"dt~ 
Slolted 
CDllars 

PJ.rt "0. 
BTU 
BTL2 
ElTU 
ElTL·; 
ElTL5 
ElTLG 
BTU 

For 2~" dla 
Slotted 
Coll:tcs 

PJ.ct So. 
OTPI 
ElTP2 
OTI'3 
OTP'; 
OTP5 
OTPG 
13T[>7 
13T PS 
OTfl9 
OTPIO 
OTPII 

For 2~"dlJ. 
Slotled 
Callus 
h.rt ,",a. 
OTTl 
DTT2 

5TTJ 

15. 

Fa r J" di" 
Slotted 
Calbrs 

PJ.rt 1\0. 
TLI 
TL2 
TLJ 
TL-I 
TL5 
TL5 
TL7 

For 3"<!:J. 
Slotted 
Coll.1rs 

P"ct ~o. 
TPI 
TP2 
T['3 
TP'; 
TI'S 
TI"; 
Tfl7 
Tfl8 
TP'J 
TPIO 
TPII 

For3" diJ. 
Slotted 
Colbrs 
[':let \0. 
TTl 
TT2 
TTJ 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



16. 

,illl Nosing Cutters 

For 2t" sq. 
cutterblock 

)i01 .-\ P:lrt No. 
510 BVF\ 
5/8" BVF2 
1.,. BVFJ . 
7/S" BVF-\ 
1" BVFS 
1.1/8" BVF6a 
1 ! .. ~ BVF6 
I}" BVF7 
I .~ •. DVFB 
2" [JVF9 

a-I\] 
)~ A 

~~ 

1:1.1[0\.1,: NosinL: Cutters 

m .-\ !,. 
5/8" 
.~ .. 
7/0" 
I" 
1 
1 " 

I " 

:tre Ed~e Cutt erS 

Cut 

I, 

I" 
1" -, 
~" 
i .. , 

For 3~" sq 
cutterblock 

Part No. 
VFl 
VF2 
VrJ 
VF-I 
\iFS 
VF6:> 
VFG 
VF? 
VFB 
VF9 

For J i" sq. 
cutterblock 

Part ~o. 
VDl 
VB2 
VID 
VB-I 
vns 
V36 
V137 
VB8 
V139 

Fa r 2 i" Ji:t 
Slotted 
Colla r s 

BV;':1 
BVN2 
BVNJ 
BVN4 
BVNS 
BVN6 
BV",7 
BVNB 
BVN9 
BVNIO 

For 2~" db 
Slotted 
Collars 

Part No. 
BVHI 
BVH2 
BVH3 
BVm 
BVHS 
BVH6a 
BVH6 
BVH7 
BVHB 
BVH9 

For 3" dia 
Slotted 
Collars 

Part No. 
VHl 
VH2 
VHJ 
VH~ 

VH5 
VH6a 
VH6 
VH? 
VHB 
VH9 

For J"' dia 
Slotted 
Callus 

Part No . 
VOI 
VD2 
VOJ 
V~ 

V05 
V05 
V07 
V08 
VOg 

For 3" di:t 
Slotted 
Colbrs --------
VNI 
VN2 
VNJ 
VN4 
VN5 
VN6 
VN7 
VN8 
VN9 
VNI0 

CUTTERS M·m CUTTER STEELs FOR SPlNDLE MOULDERS 

Special grades of steel are used (or making cutters for 
different duties and ~pplications on the spindle moulder. The 
following is a rough guide. 

High speed steel on iron is used for long life and for cutting 
hard woods. High speed steel is brittle and is usually ..... elded to 
a softer steel back for all types of unsupported irons. These arc 
used on square cutterblocks, slotted colbrs and some thin knife 
moulding cutterblocks. A Jarge r:>nge of irons (or the square 
cutterblock and slotted collars arc readily avaiJ:tble in this sleel. 

Solid high speed steel :- is more brittle :tnd is only used where 
the cutters are supported very close up to the cutting edge e. g. a 
thin knife on the circular cutterblock, or where a strong section 
can be used such as a milled to pattern slotted collar cutter. 

AlloY steel on iron :- is less expensive than hi~h speed steel 
on iron, and is more ductile. Allo, steel is not :ts h:trd and will 
not stand up to he:IVY cutting 0 r hard .... ·oods as well as hir;h speed 
steel. A brge r:wge of irons (or the squJ.re cutterblock and 
slotted collars are re3dily J.vailable in this steel. 

Solid :tHoy steel :- is normally supplied in bar (orrYI in the 
soft condition {or cuttin!,; up by the cus:omer. It is e3sily h:trdened 
:tnd tempered :>nd is norm:tlly used (or french spindle "'ork up to 
6,000 rpm where cutters :>re held by:t lockin[; SCrew in spindle, 
locking direct on to the side of the cutter. 

All the :lbove types C:in be supplied in bar form, micrometer 
ground to preCIsion limils. The aJloy and :tlloy on iron 3/16" 
(Smm) X ~" (20mnt) up to :." (60101) X J" (76mm) in the soft condition 
andthesolid hl~hspeedsteeI5/32"(4mnl)x 15"(J8mrn):J.nd 5/J2" 
(4mm) x 2" (50mm) :>nd hl~h speed sleel on iron~" (6mm) x Il-" 
(J2mm) and ~" (6"'111) " 15" (381l1111) 10 the head treJ.ted condition. 
These latter bJ.rs c:lnnot tJe cut ,,-jth :> tool :tnd the blanks should 
be ordered to correct !;rindin!,': len[:'ths unless the user has suitable 
!;nndln!; wheel equIpment for cuttin" to len[;th himself. 

All the .J.bovc cullerS c:\n be !::round on the usu:ll stJ.nd:1rd 
!:rindin!; equipment. 

Tungsten carbide tips:- These arc SI)ecl:tlly made for use 011 

h:l.rd ..... oods, ..... oods WIth hIC:h sillD content J.lso plywoods and 
h:>rdboards where Hi!;h Speed Steel will not stand up to the.J.brasive 
:lenon. It is much morc expensive but ~I ... ·cs .... ery nluch longer 
liCC'. A limited r:J.r1 b c of these cutters [or slotted colb.:-s and 
squ:>re cutterblocks"re ,vailatJle. Special sh.lpes C:ln bcsupptlt~d 
to order. 
N.I3. SpeciJ.1 diJ.mond imprel,;nJ.ted brInd!n!; ""heels :>nd dlJ.rYIond 
h:\nd C::lpS J..rc esscntlJ.1 [0:- sh.:1pin£: .J.nd scr .. 'icin~ Tunb'stcn 

C:>rbide Tipped Toots. TheseJ.re ,v:ulabt"but e:<pensive ror the 
Sm:l.ll user ror u:hom ..... 'C CJ.r\ offer J. cutter b'rtndlnb service if 
rcq ui red. 

SHAPrNG CUITEnS 

When shJ.pin(; cutters (or :tny mould on :tny type of cutterhe:td 
or slotted coll;)rs it is import:tnt thJ.t the correct J.!Iou.';],nce is 
made to the depth of (arm cutter. 

Fig. 10 shows the projections of the cutter to produce a simple 
rebate. For eXJ.mpl" usin!; the 3~" squ:>re cutterblock, to produce 
a I" (2Smm) deep rebJ.te the cutter must have:> depth of (arm of 
1. 3/15" (JOmn» this beinr; due 10 the:>ngl" J.l "'hlch the cutter 
strikes the work on the line "AA". When:t shaped mould is 
required tobe cut It is necessJ.ry to plot out the (orm of the culter' 
this is shown in lif;. 11. ' 

!l is import:lnt when selectinb lJlanf;s frDm which tD make the 
cuttel' th:tt they ha"e the minImum necessary overhan£:. Also J. 
bbnk:ts ne:>r the shape and width as possible should Gc selected 
so th"t there will be less "-'J.ste and less chanf:e of overhe:ttinf; 
cutters when gnnding. 

The minimum cuttin~ circle is fixed to give the necess:lry 
clear:tnce 101' the bolt head when u.·orh:in~ u.ith straight irons only. 

The culting angle which is norm:tlly 35 0 is sho'.vn J.t "B", in 
fig. 10 :tndthecutllngand the cuttingJ.ngle at "C" this anr;le vJ.rie;; 
with the size or the cutter-block and the depth of the mould 

L 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



"':.,J' 

FIG. 10. 

To obLlin the CO:-Tec (cutlCT rann [or .1 sh:lped mould. without 
using- (h~ muulder:::; rule, It is HCt.:L":lS::u":,: lO ~Iot this out ..1S shown. 

F'it'~t th~ squ:ln .. ~ bloc;":' .J.rld cuttL'f at minittlu/:l C"uttln;; ctn.:le 
Jrc dr:J.\\.'noul:t( "Y" in ri~.ll. TherJ.diusortheminimumcutlin:.:, 
circlc is C!!'.l\\"Tl :lrout~c1 to t~e centre line l..nd di"'idcd up lJ'f the 
lInes .-\, D,e, D J.nd E, illto eIther ljlfi'· (2r:ln,) or I,'S" (Jr:":1) 

:lccordin~ t. thw ~jze :tnd intric::lcy or the sh;lpe, thesc line's .lr~ 
then 5truc:': round fror:t [he centre line fJdil..lly la the r:H::e or th~ 

cutter . 
.. \ t ,.:-:: .. tit c I i n c S .. \ 1 , D 1 , el, D I, J. n dEI J. re C:l r r , cd "c r 0 S S :l 5 

shl)wn, .llslJ :It "\1.1" the- mould IS ~roduced c.-el.ccl:; .1S .1t "z" .\flU 
di';idcd up lh.;: SJn1e, thc lines 1,2, J.'; :tnd :> 1,1.:hich J.re (rorn lhe 
pOInts "here lines A, 0, e, etc. intersect the c-d<;e of the Illould, 
:tre then dra',I,;n :1cross to "X" thus El is cut U;" I; 01 tJj' ~. ete. 
The pOints oC intersectIon are jOined :15 shov.-n thus !;t\"ITl!; the 
co,· rect projected (arm of the cutter. 
• This t~kes up consider;].ble time to do for C"-ch sh..'pe of cult ers 
required, J.nd cJ.n be very much reduced by usin" the moulder'S 
rule J.s shown in fi[;, 12. This is:l gr::tph on which the form CJ.n 
be plotted J.nd J.utom:lticJ..lly ~ives the necesS:J.ry J.llov.-:J.nce on the 
depth of (arm. 

When the mould is to be J. stand::trd, :l templJ.te should be mJ.de 
to the projected form to which the cutters cJ.n be shJ.ped when the 
job repeats. This will ensure uniformity on ::tll future runs. 

"lOULDERS RULE 

A permJ.nent moulder's rule cJ.n be mJ.de by the customer In 
sheet brass and aluminium and will then be handy for use In the 
workshop. 

To plot the form of J. cutter by use of the moulder's rule it is 
nec essJ.ri· to dro.w the full siz~ shape of the mould on tnclnl: pJ.per 
and rule 1/3·' (Jmnl) squJ.res as shown in fig. 12J.. ThiS is then 
"lJ.ced J.longside the moulder's rule and projected J.cross, this 
wlll give J. series of dots which must be joined to <;lve the form of 
the cutter, The cutter blJ.nk chosen must be WIde enough to gIve 
J.t least 1/S" (Jmm) overl:!p beyond the edge of the mould. The 
depth of form of the cutter for the SJ.me mould vJ.ries slightl, 
wben used on a J~" (89mm) or 2k" (64mm) squJ.re cutterblock due 
to the different cutting diameters. Moulder's rules J.re required 
[or e:lch sizeof square block. The cutlers J.re not interchJ.ngeable 
from one size of cutterblock to J.nother i[ J. reJ..lly J.ccur"te mould 
is required. 

CO~RECl row .... OF' 
CUTT~=l 

··X· 

CU TlEJl 

,.y .. 

,},( fU~t. ~>-<o,.l.,;l£ 

o~ .... Out.O 

I.AOUlO(AS CUl£ 

·l·· 

.... C1U"'l ... ou\..D 

" 
, 

, 1\1 
I -'" , , ~ , , 

! , 
I 

I 2 J 4 \ 

I 0 > " 0 ~ 

i=lROJ(C tED s..., ....... ~ 
OF C u! 1~!1 FIG UA. 

,,' ., 

i-

-5 

., 
J, 

, , 
, 
, 

1 I 

I , 
, 

I 

17. 

I 

I 

FIG .12 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m



4 

IMPORTANT 

Keep these Iac es 
clean and free 
from burrs. 

B 

WORK SPINDLE INSTALLATION 

.....b_--;'\ 

FIG.S. 

Before inserting the work spindle. select which of the three 
table ring openings you require. The two removable rings give 
hole sizes of 6.5/8". 3k" and 2~" dia, (170.90 and 70mml. 

To insert the work spindle the undermentioned procedure 
should he followed:-

1. Insert the work spindle "A" in fig. 8 i ltO the main spindle 
through the hole in the table top. Great care should be taken to 
ensure that the work spindle and main spindle seatings are 
completely free from all burrs, dirt and rust. A thin film of oil 
should be put on the work spindle seatings before inserting. Line 
the peg in the work spindle with the slot in the main spindle and 
press spindle onto seating. 

2. 

c 

FIG. 9. 

FENCE ADJUSTMENTS 

Each fence plate can be independently adjusted by means of 
the plastic handwheels "A", in fig. 9. The fenceplatescan be set 
to the desired position and locked by the plastic handwheels "B". 
The fronl fence plates can be made either of metal or wood and 
are adjustable endwise, 

The fence slide bars rest in accurately machined vee groO\~s 
and ar., held in position by the two brass g-rubscrews on each bar. 
H the slide bars become slack adjust lhe grubscrews "e" by the 
required amount and relock in position with the 3/8" whil locknut s. 
The fence plates should be locked both ways at all tunes when the 
machine is in use. 

The fence is fitted with a safety guard and a "Shaw" guard can 
also be fitted if required. 

The safety guard is adiustable depending on the section of timber 
being worked. This guard is shown in position, in fig. 9. To adjusl 
(he guard for various sections of timber unscrew the knurled knob 
"D", set to required posi:ion and relock the knurled knob "D". 

To adjust the safety guard in rela '0' to the fence plates 
unscrew the two ball lever screw "E". position tJ,e safety guard 
and relock. 

GENERAL HINTS 

1. Use sharp cutters. reasonably balanced. 
Open access door at the front of the machine. 

2. Make good robust jigs and ensure the parts are located securely 
3. Move control Box Lever to "lock" position as previously on the jig. 
described. 

3. NEVER run the cutter equipment at hj,;her than the recommended 
speed. 4. Insert the spindle drawbolt "B" up the centre of the main 

spindle and screw into the end of the work spindle and lock with 
spanner provided. 4. :\lways use the guards available to ensure maximum protection. 
Note :- Drawbolt thread is right hand. 

The spindle is now ready to receive the cutter eqUIpment as 
requir·ed. 

To remove the work spindle the undermentioned procedure 
should be followed:-
1. Lock main spindle as previously described. 
2. Open access door at the front of the machine. 
3. tT;lscrewthe drawbolt "B" and withdraw from the main spindle 
4. The work spindle "A" can now be removed hy lifting clear 
throug'" the hole in the table 

5. EnSure (he cutters are tighl on the blocks betore starting up. 
Use the spanners provided and never fit a piece of piping to get 
greater le';" ·a:;e. This will strain the nuts :llld balls and ultimately 
make lhem unsafe. 

6. NEVER pack the cutters with sandpaper, This is most danp:erous 
as the grIt collapses, when (he cutter is working and the cutter 
works loose. For packing use one thickness onl; of thin braWl! 
paper 

7, Keep nuts and bolts clean and use oil on the threads. 

~l!lportant 8, When changing cutter equipment always ensure the ",lachine 
Alw~ys ensure at alltimes that WOt\, spindL b ,,·cu,.,,]. held rnnlro] lever is in Ihe free or lock position. If in doubt isolate 

hv drawbolt before starting the machine, the machine electrically. 

www.w
ad

kin
.co

m 

inf
o@

wad
kin

.co
m




